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A PR

B EK BRIAEE

JFIK A 4 5 6 7 8 9 10 11 12 1 2 3 AR
KA 19.0] 22.8] 28.3] 29.9| 30.8 27.5| 24.5| 17.0| 15.0 7.9 8.6/ 15.0| 30.8
KR (C) /AN 12,00 16.6 20.4| 26.4| 25.7| 23.9| 15.4| 14.5 7.0 4.9 5.0 9.0 4.9
Ery | 15.2|  19.6| 23.0| 28.1| 28.7| 25.7| 19.7| 15.6| 10.0 6.5 7.1 12.2] 17.6
ek 45 26 29 23 20 18 23 27 25 20 21 26 45
tiali s (s B/ 24 15 12 12 11 11 12 16 11 12 14 19 11
Sty 33 20 21 16 15 14 16 21 16 14 17 23 19
BA| 9.41| 9.24| 9.04| 8.97| 8.83 8.96| 8.95| 9.03] 8.78] 8.60| 8.75| 9.05] 9.41
p HAE B/N| 8.8 8.60] 815 8.04| 7.80| 8.10| 8.20| 8.24| 8.26| 8.19| 8.19| 8.48] 7.80
Ery | 9.24| 8.95 8.68) 8.61| 8.23] 8.50| 8.59| 8.63| 8.49| 8.41| 8.46| 8.79| 8.63
ek 17 18 19 18 22 22 20 19 17 17 18 19 22
o (s B2 N 14 13 14 15 16 17 17 16 15 16 16 16 13
Sty 16 16 17 17 19 20 19 17 17 17 17 18 18
i ) A 251 19.6| 21.8 16.8] 20.0| 21.3| 22.0] 21.6] 19.5| 17.2| 17.6| 19.1| 25.1
g%ﬁ?%:ﬁ;%?/ (mg/L) BN 174 147 13.9| 13.5| 14.6| 15.3| 15.4| 15.9| 14.9| 14.3| 15.1| 16.1] 13.5
SEry | 20.7| 16.9| 16.6| 15.1| 16.6| 17.2| 17.2| 18.3| 16.4| 15.7| 16.1| 17.3] 17.0
) IS FN 5.5 4.1 4.1 4.4 .9 4.9 5.0 4.9 .6 4.7 5.4 5.5 5.5
ﬁﬁﬂg C()/ﬂgg;fﬁ (mg/L) B/l 4.8 3.5 3.9 3.9 1 4.7 4.5 4.4 .3 4.6 4.7 4.8 3.5
RiS5) 5.2 3.9 4.0 4.2 4.5 4.8 4.7 4.7 4.5 4.6 5.0 5.2 4.6
&A| 335 31.9| 32.8 35.2| 41.6| 46.1| 39.9| 43.4| 43.9| 46.9| 50.6| 46.9| 50.6
Ak A A (mg/L) BN 30,01 29.8] 29.4| 21.4| 34.0| 36.1| 36.0] 37.0| 36.1| 38.0] 39.5| 41.6] 21.4
Sy | 31,9 30.9| 31.1| 32.8) 36.8] 40.0| 37.8] 39.3| 38.2| 41.9| 44.1| 44.1| 37.4
o IS FN 159 102 8 5 5 1 1 2 8 9 47 245 245
22:?:?;’” IR gy | B 72 15 4 1 2 1 1 1 1 2 17| o 1
Sty 112 67 6 3 3 1 1 1 3 5 30 144 31
IS FN 358 79 7 5 3 2 3 6 57 229 636 721 721
VA AI v (ng/L) B/ 92 7 3 1 2 1 1 1 13 144 244 175 1
Sty 234 24 5 2 3 2 2 4 30 176 433 443 113
&R 7.8 72.9| 72.3] 77.4| 80.0| 81.2| 81.3| 81.1| 80.5| 83.3| 84.4| 84.8] 84.8
BTk g (mg/L) /AN 69.1| 68.8] 69.1| 72.6| 76.1| 77.3| 76.9| 78.2| 78.0| 79.5| 80.3] 80.9| 68.8
¥y | 70.5|  70.4| 70.5| 74.4| 77.8] 79.7| 78.8| 79.9| 78.7| 81.5| 81.9| 82.0] 77.2
IS FN 30 29 38 16 26 28 25 30 21 16 21 24 38
FUEE (mg/L) E52N 27 21 19 14 15 20 18 20 13 10 13 20 10
Sty 28 25 29 15 18 23 21 24 17 13 16 21 21
AR 11.3 9.5 10.8 9.2 9.3 9.7 10.5| 10.7 9.8 9.1 9.4| 10.0| 11.3
COD (mg/L) /AN 10,0 7.7 8.6 7.8 8.8 9.0] 10.0 9.3 8.3 8.6 8.8 9.7 7.7
| 10.6 8.6 9.6 8.6 9.1 9.4 10.2 9.8 9.2 9.0 9.1 9.9 9.4
ek 297 293 300 318 346 361 342 354 362 378 387 372 387
AR (uS/em) | fx/h 282 283 283 296 312 326 324 331 332 342 354 353 282
Sty 291 287 290 305 326 341 330 339 338 361 368 361 328
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SRS 1RARK RN
TRFIK A 4 5 6 7 8 9 10 11 12 1 2 3 S|
k| 19.00 22.8/ 28.6| 30.0] 31.0] 27.7| 24.7| 16.9| 15.0 8.0 8.2| 15.1| 31.0
KR (C) /AN 12,00 16.6) 20.3| 26.5| 25.9] 23.9| 15.5| 14.6 7.0 4.9 5.0 12.1 4.9
S| 16.2| 19.6|  23.1| 28.1| 28.8| 25.7| 19.8| 15.6| 10.1 6.5 6.6| 13.7| 17.7
k| 8.43| 7.50| 7.49| 7.73| 7.59| 7.46| 7.83] 7.90| 7.90| 7.76| 7.73| 7.53| 8.43
p HAE BNl 7.390 7018 7.22| 7.29) 7.28| 7.24| 7.26| 7.58| 7.50| 7.24| 7.49| 7.32| 7.18
Sty | 7082 7.31| 7.37| 7.48| 7.40| 7.33| 7.40| 7.74| 7.72| 7.61| 7.58] 7.45| 7.52
IS ON 315 311 317 339 365 382 362 372 371 394 402 387 402
ARG (uS/em) | e/l 301 302 302 310 324 343 336 342 342 351 367 370 301
Sty 308 306 307 322 344 360 346 352 349 373 378 377 344
IS ON 3.2 3.3 3.4 3.3 3.2 3.5 3.0 2.3 2.1 1.7 1.5 1.8 3.5
TR TR (mg/L) E52N 2.3 1.6 2.5 2.5 2.5 2.4 2.0 1.7 1.4 1.0 1.1 1.1 1.0
Sty 2.7 2.5 2.9 2.8 2.9 2.9 2.5 2.0 1.6 1.3 1.3 1.3 2.2
BEEKYEE 2 RABK
TRFIK A 4 5 6 7 8 9 10 11 12 1 2 3 S|
Bl 19.2] 22,7 28.2| 29.7| 30.7| 27.5| 24.8| 16.9| 15.0 7.9 8.5 14.9| 30.7
KR (C) BN 119 16.5 20.2| 26.4] 25.8] 23.8 15.3| 14.5 7.0 4.7 5.0 9.0 4.7
Sty | 1601 19.5|  22.9| 28.0| 28.6| 25.6| 19.7| 15.6| 10.0 6.5 7.1 12.2] 17.6
ok | 7,27 7019 7.18| 7.200  7.17| 7015 7.46| 7.49| 7.49| 7.42| 7.33| 7.29| 7.49
p HAE Fe/N| o 7.000 6.97|  6.99] 7.00| 6.98] 7.02| 7.05| 7.26| 7.24| 7.10| 7.14| 7.06| 6.97
Sty | 7014 7.08)  7.100 7.09| 7.09| 7.10| 7.14| 7.37| 7.36| 7.26| 7.24| 7.17| 7.18
IS ON 330 315 324 347 373 387 366 382 372 403 411 401 411
AR R (uS/em) | fx/h 310 307 308 318 340 350 344 349 349 359 376 376 307
Sty 320 311 314 331 352 366 353 359 357 382 391 387 352
IS ON 3.4 3.4 3.6 3.5 3.4 3.8 3.1 2.5 2.1 1.8 2.8 3.1 3.8
TR TR (mg/L) E52N 2.4 1.8 2.6 2.6 2.6 2.5 2.1 1.8 1.4 1.0 1.2 1.2 1.0
Sty 2.8 2.6 3.0 3.0 2.9 3.0 2.6 2.2 1.7 1.4 1.5 2.0 2.4
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BEERYE 1R ARk A FR44E i

b 217K A 4 5 6 7 8 9 10 11 12 1 2 3 AR
AR 191 22.7| 28.4| 29.9| 30.6| 27.6| 24.6| 16.8| 15.1 8.0 8.6/ 15.0| 30.6
KR (c) /AN 12,00 16.7| 20.4| 26.5| 26.0| 23.9| 15.5| 14.6 7.1 5.0 5.4 9.2 5.0
Ery | 15.3| 19.6| 23.1| 28.1| 28.7| 25.7| 19.8 157 10.1 6.6 7.3 12.3] 17.7
RBAR| <1 <o.1| <o.1| <o.1| <o.1| <0.1| <0.1| <0.1| <0.1] <0.1| <0.1| <0.1| <0.1
tiali s (s BN <001 <01 <01 <o.1| <o.1| <0.1| <0.1 <0.1| <0.1] <0.1| <0.1| <0.1| <0.1
SEHy | <0.1| <0.1|  <o.1|  <0.1|  <0.1| <0.1| <0.1| <o.1| <o.1| <o.1| <0.1| <o0.1| <0.1
KR ra7| 7.7 T.16 716 714 717 7.42|  7.41|  7.41 7.35| 7.30] 7.19] 7.42
p HAE AN 691 704 702 7.02| 7.02| 7.06| 7.07| 7.23] 7.22| 7.08] 7.11| 7.04] 6.91
Sy | 7.03| 7.09|  7.11| 711 7.08] 7.12| 716 7.32| 7.31| 7.24| 7.200 7.11] 7.16
i ) ek 4.4 4.9 4.7 4.8 5.6 6.2 5.8 5.8 5.4 5.3 5.2 4.5 6.2
g%ﬁ?f:ﬁ;%?/ (mg/L) B2 N 3.9 3.8 3.9 4.3 4.4 5.2 4.9 5.1 4.9 4.8 4.0 3.6 3.6
Sty 4.1 4.2 4.3 4.4 5.1 5.7 5.4 5.4 5.2 5.1 4.6 4.0 4.8
) IS FN 2.1 2.3 2.4 2.5 2.8 3.2 2.9 2.7 2.6 2.5 2.8 2.3 3.2
ﬁ%ﬁé?ﬁ@f* (mg/L) B2 N 2.0 1.9 2.3 2.4 2.5 2.8 2.7 2.5 2.4 2.4 2.2 1.9 1.9
Sty 2.0 2.1 2.3 2.4 2.7 3.0 2.8 2.6 2.4 2.4 2.5 2.2 2.4
o IS FN 133 94 6 5 3 1 1 2 7 9 37 225 225
22:?:?;’” TN gy | B 70 18 4 1 2 1 < 1 1 1 4 70|«
RiS5) 100 64 5 3 3 1 <1 1 3 5 28 122 28
IS FN 548 108 8 5 3 3 3 9 52 192 679 485 679
VAR (ng/L) /)N 134 8 3 1 2 2 2 2 12 119 186 161 1
Sty 319 35 5 2 2 2 2 6 30 151 387 301 104
IS FN 1.0 1.0 1.0 1.0 1.0 1.1 1.1 0.7 0.8 0.5 1.2 0.7 1.2
TR TR (mg/L) E52N 0.3 0.5 0.5 0.5 0.5 0.4 0.5 0.4 0.4 0.4 0.4 0.4 0.3
Sty 0.6 0.7 0.7 0.8 0.7 0.7 0.7 0.5 0.5 0.5 0.5 0.5 0.6

BEEKYE 2 R Ak

b A 17K A 4 5 6 7 8 9 10 11 12 1 2 3 AR
BAR| 193] 22.7| 28.5| 29.9| 30.6| 27.6| 24.6| 16.8] 15.2 7.9 8.5/ 15.0| 30.6
KR (c) BN 119 16.7| 20.4| 26.4] 26.0| 24.0| 15.6| 14.7 7.2 5.0 5.2 9.2 5.0
x| 15.3| 19.6| 23.1| 28.1| 28.7| 25.7| 19.9| 15.7| 10.2 6.6 7.2 12.3] 17.7
BAR| <01 <o.1| <o.1| <o.1| <o.1| <0.1| <0.1| <0.1| <0.1] <0.1| <0.1| <0.1| <0.1
8 (s /AN <001 <01 <o.1| <o.1| <o.1f <0.1| <0.1 <0.1| <0.1] <0.1| <0.1| <0.1| <0.1
SEHy | <0.1| <0.1|  <0.1| <o.1| <0.1| <0.1| <0.1| <o.1| <o.1| <o.1| <0.1| <o0.1| <0.1
KA 724 719 718 716 7.17| 717 7.40 7.43| 7.46| 7.37| 7.28| 7.21| 7.46
p HAE /AN 702 703 7000 7.03] 7.02| 7.08| 7.06| 7.21| 7.200 7.06] 7.10] 7.05| 7.00
SEry | 7.09|  7.10|  7.11| 710 711|712 716 7.32| 7.33| 7.24| 7.200 7.14] 7.17
i ) ek 4.4 5.1 4.9 5.1 6.2 6.5 6.0 5.9 5.7 5.6 5.2 4.6 6.5
g%ﬁ?f:ﬁ;%?/ (mg/L) B/ 4.1 4.1 4.0 4.3 4.7 5.4 5.3 5.4 5.0 4.8 3.8 3.8 3.8
Sty 4.3 4.4 4.5 4.6 5.4 6.0 5.6 5.6 5.3 5.3 4.7 4.2 5.0
) IS FN 2.2 2.3 2.5 2.6 3.0 3.3 3.0 2.7 2.7 2.6 2.9 2.4 3.3
ﬁ%ﬁé?ﬁ@f* (mg/L) /)N 2.1 2.1 2.4 2.5 2.7 3.0 2.8 2.6 2.3 2.5 2.2 2.1 2.1
Sty 2.1 2.1 2.4 2.6 2.8 3.1 2.9 2.6 2.5 2.5 2.5 2.2 2.5
o ek 134 118 7 5 4 1 2 2 7 9 22 230 230
22:?:?;’” IR gy | B | 21 4 2 2 1 1 1 1 2 15| 76 1
Sty 106 78 6 3 3 1 1 2 3 5 18 127 29
ek 606 125 8 5 3 2 3 8 51 217 606 575 606
VAR (ng/L) /)N 139 9 4 1 2 2 2 3 13 134 230 191 1
Sty 340 42 5 3 3 2 2 6 30 164 412 343 113
ek 1.1 1.0 1.3 1.4 0.9 1.3 1.0 0.7 0.7 0.6 1.2 1.6 1.6
TR TR (mg/L) E52N 0.3 0.3 0.4 0.5 0.3 0.4 0.4 0.4 0.3 0.3 0.4 0.4 0.3
Ris5) 0.7 0.6 0.9 0.8 0.6 0.6 0.6 0.5 0.5 0.4 0.6 0.6 0.6
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A SR VAGYS B FI4AE B

RLIRTEPE R ALER K A 4 5 6 7 8 9 10 11 12 1 2 3 AR
Wl 19.2] 22,7 28.5| 29.9| 30.7| 27.6| 24.7| 16.9| 15.3 8.0 8.6/ 15.0| 30.7
KR c) /AN 12,00 16.7|  20.3| 26.5| 25.9] 24.0| 15.7| 14.7 7.2 5.0 5.3 9.3 5.0
Sy | 1503 19.6|  23.1| 28.1| 28.8| 25.8 19.9| 15.8| 10.2 6.7 7.3 12.3] 17,7
| <01 <o.1| <0.1| <0.1| <0.1] <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1
il (%) e/ <001 <o.1| <0.1| <0.1| <0.1] <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1
Sy | <0.1| <001 <0.1]  <0.1f <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1
k| 7.05| 7.05| 7.06| 7.05| 7.10| 7.14| 7.31| 7.35| 7.37| 7.32| 7.23| 7.19| 7.37
p HfE /AN 6.94) 6.91| 6.91| 6.95| 6.96| 6.98| 7.00| 7.15| 7.19| 7.04| 7.09| 7.03] 6.91
g 6.99]  6.98|  6.97| 6.99] 7.01| 7.03| 7.09| 7.25| 7.28| 7.20| 7.16| 7.10| 7.09
S G BR 1.2 1.3 1.5 1.9 2.3 2.3 2.7 2.4 2.3 2.5 2.2 1.8 2.7
B U g ) (mg/L) 2/ 0.8 0.8 1.1 1.3 1.7 1.7 1.7 1.7 1.8 1.9 1.4 1.0 0.8
F-H) 1.0 1.1 1.3 1.6 2.0 2.1 2.1 2.1 2.0 2.2 1.9 1.3 1.7
i (SRS BR 0.6 0.7 1.1 1.2 1.4 1.5 1.5 1.2 1.3 1.4 1.5 1.0 1.5
(ToC) ol e/ e/ 0.4 0.4 0.7 0.9 1.2 1.1 1.1 0.9 1.0 1.2 0.9 0.6 0.4
FH) 0.5 0.6 0.9 1.1 1.3 1.2 1.3 1.0 1.1 1.3 1.2 0.8 1.0
N R 2 3 3 3 2 <1 <1 <1 <1 <1 2 4 4
i:zi»%%*»z /L) | B a 1 2 of al  al al al al o« 1 ol <
FH) 1 2 3 2 1 <1 <1 <1 <1 <1 2 3 1
BR 2 <1 <1 <1 <1 <1 <1 <1 <1 2 5 2 5
T FAI v (ng/L) Bl <1 <1 <1 <1 <1 <1 <1 <1 <1 1 2 <1 <1
F-H) <1 <1 <1 <1 <1 <1 <1 <1 <1 2 3 1 <1

BIREKY  HK
oK A 4 5 6 7 8 9 10 11 12 1 2 3 AR
Bl 191 22,7 28.4| 29.6| 30.5| 27.4| 24.6| 17.0| 15.1 7.8 8.5\ 14.7| 30.5
KR c) /AN 12,00 16.6) 20.2| 26.3| 25.8] 23.9| 15.6| 14.7 7.2 5.0 5.1 9.1 5.0
Sy | 15.2|  19.5| 22.9| 27.9| 28.6| 25.6| 19.8] 15.7| 10.1 6.6 7.2 12.2] 17.6
R | <01 <o.1| <0.1| <0.1| <0.1] <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1
L (%) e/ <001 <o.1| <0.1| <0.1| <0.1] <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1
Sy | <0.1| <001 0.1 <0.1f <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1
k| 7.08] 7.07| 7.09 7.13| 7.10] 7.16| 7.30| 7.36| 7.40| 7.34| 7.27| 7.21| 7.40
p HfE /AN 6,99 6.93] 6.96| 6.97| 6.99] 7.03| 7.04| 7.19| 7.23| 7.13| 7.12| 7.04| 6.93
Sy | 7.03] 7.02| 7.01| 7.03] 7.05| 7.08] 7.12| 7.28| 7.31| 7.25| 7.19| 7.12| T7.12
BR 0 0 0 0 0 0 0 0 0 0 0 0 0
i (%) Bl 0 0 0 0 0 0 0 0 0 0 0 0 0
F-H) 0 0 0 0 0 0 0 0 0 0 0 0 0
S Gl BR 1.1 1.3 1.3 1.6 1.6 2.0 2.7 2.3 2.2 2.4 1.9 1.5 2.7
B U g ) (mg/L) 2 0.8 0.9 1.0 1.1 1.3 1.5 1.5 1.7 1.8 1.7 1.0 0.9 0.8
F-H) 0.9 1.1 1.1 1.3 1.5 1.8 2.0 2.0 2.0 2.0 1.6 1.1 1.5
i (SR BR 0.7 0.8 1.2 1.2 1.2 1.4 1.6 1.4 1.3 1.4 1.4 0.9 1.6
(ToC) ol e/ 2 0.6 0.6 0.7 0.9 1.0 1.1 1.2 1.1 1.2 1.2 0.8 0.6 0.6
F-H) 0.6 0.7 0.9 1.1 1.1 1.2 1.4 1.2 1.2 1.3 1.1 0.8 1.0
k| 45.8| 38.4| 41.9| 44.3| 53.5| 53.2| 48.0| 49.5| 50.4| 56.7| 58.5| 57.8 58.5
WAk A A (mg/L) /| 375 35.4| 36.1| 40.0| 43.0| 43.6| 42.4| 44.2| 43.6| 45.1| 48.8| 51.7| 35.4
S| 43.0| 37.1|  38.0| 41.5| 45.8| 47.6| 44.8| 46.7| 45.6| 50.2| 53.2| 55.3| 45.7
BR AL | B | B AL | BEAL| WAL | BEAL | BEA L | WL | mEe L | Bl | Bl -
BR 1 1 1 1 1 1 1 1 1 1 1 1 1
RBEME (TON) Bl 1 1 1 1 1 1 1 1 1 1 1 1 1
F-H) 1 1 1 1 1 1 1 1 1 1 1 1 1
'S R U | BERL | RERL| BEARL | RERL | BEAL | RERL | BEAL | RERL| BEARL | BERL| BEARL -
N R 2 3 4 2 2 <1 <1 <1 <1 <1 2 5 5
i:zi»%%*»z g/l | B a 2 2 of al  al al al al o« 1 ol <
F-H) 1 2 2 2 <1 <1 <1 <1 <1 <1 1 3 <1
BR 1 <1 <1 <1 <1 <1 <1 <1 <1 2 4 2 4
T FAI v (ng/L) Bl <1 <1 <1 <1 <1 <1 <1 <1 <1 2 2 <1 <1
FH) <1 <1 <1 <1 <1 <1 <1 <1 <1 2 3 1 <1
BR 0.7 0.8 0.9 0.9 1.0 1.1 1.0 1.0 0.9 0.9 0.8 0.8 1.1
PR (mg/L) e 0.6 0.7 0.7 0.8 0.9 1.0 0.9 0.8 0.8 0.8 0.7 0.6 0.6
FH) 0.7 0.7 0.8 0.9 0.9 1.0 1.0 0.9 0.8 0.8 0.7 0.7 0.8
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Sy | 49.3| 51.2| 5.5 72.9] 92.0| 75.3| 54.0| 65.5| 65.9| 83.6| 85.2| 75.4| 68.8
N R 81 84 9 6 3 1 1 2 8 10 56 98 98
zjlii’w S O S TN 44 9 4 2 1 1 <1 <1 1 2 24 49 <
] 63 49 6 4 2 1 <1 1 3 5 40 64 20
BR 192 42 9 5 3 2 3 6 23 64 283 178 283
T FAI v (ng/L) Bl 79 6 6 1 2 1 2 1 7 22 155 104 1
] 147 16 8 3 2 2 2 3 14 40 236 138 51
BAR| 78.2] 79.0] 79.7| 88.0| 90.4| 89.3| 87.9| 88.6| 89.0| 97.9| 94.2| 94.4] 97.9
BTk (mg/L) BN 69.7| 72.4 7T4.4) 79.0| 83.9| 74.5| 72.4| 76.3| 79.2| 86.8] 89.3| 81.6| 69.7
Sy | 73.6|  75.3| 77.4| 84.1| 88.1| 84.2| 79.6] 82.9| 84.6| 91.5| 91.6| 88.1| 83.4
R 32 29 34 25 24 32 25 30 22 22 23 28 34
FilEWE (mg/L) B/l 24 20 16 12 13 16 19 21 16 16 17 23 12
] 28 24 24 19 18 22 22 26 19 20 20 25 22
Rl 10.7 8.4 9.4 9.4 8.7 8.2 8.9 9.1 8.1 8.9 9.4 9.6 10.7
COD (mg/L) e/ 9.4 7.6 7.9 7.8 7.2 7.4 8.3 7.6 7.3 7.8 8.7 7.7 7.2
Y| 10.0 8.0 8.4 8.8 8.3 7.8 8.6 8.6 7.8 8.3 9.1 8.9 8.6
R 379 393 408 517 587 569 422 491 491 620 564 537 620
TERARE R (uS/em) | fxe/IN 323 333 336 402 510 411 352 388 407 463 521 4217 323
] 354 361 382 457 545 477 388 438 444 536 541 494 451
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ks 1 RARK RN
TRFIK A 4 5 6 7 8 9 10 11 12 1 2 3 S|
Bkl 191 22,7 28.8] 29.7| 31.1| 27.1| 24.0| 16.1| 14.7 7.1 8.2| 14.6| 31.1
KR (C) BN 110 16.0 19.4| 25.9] 25.5| 23.2| 14.9| 13.9 6.4 4.1 4.4 8.5 4.1
Sy 14.9) 19.1|  22.6| 27.8| 28.3| 25.1| 19.0| 15.0 9.4 5.9 6.6| 11.9] 17.1
k| 7.85| 7.67| 7.59| 7.67| 7.63] 7.52| 7.60| 8.22| 8.47| 8.49| 8.15| 8.40| 8.49
p HAE BN 7.38] 7.39 7.37| 7.49| 7.32| 7.28| 7.36| 7.48| 7.84| 7.74| 7.99| 7.77| 7.28
Sty | 7053 7.50(  7.47|  7.57| 7.46| 7.36| 7.46| 7.84| 8.11| 8.15| 8.08] 8.10| 7.72
IS ON 388 401 421 534 600 573 433 496 480 630 576 543 630
AR R (uS/em) | e/l 334 348 368 416 531 426 359 399 412 485 531 438 334
Sty 364 374 397 471 560 491 398 444 450 547 550 501 462
IS ON 2.4 3.3 3.4 3.3 3.4 3.2 2.9 2.4 2.1 1.7 1.6 1.8 3.4
TR TR (mg/L) E52N 1.4 1.8 2.3 2.0 1.9 2.1 1.6 1.5 1.3 1.1 1.3 1.3 1.1
Sty 1.8 2.4 2.8 2.8 2.5 2.6 2.0 1.9 1.5 1.4 1.4 1.5 2.0
ks 2 RARK
TRFIK A 4 5 6 7 8 9 10 11 12 1 2 3 S|
Bl 191 22,7 28.7 29.7| 31.1| 27.0/ 23.9| 16.1| 14.6 7.0 8.1| 14.5| 31.1
KR (C) BN 110 15.9) 19.3| 25.9] 25.5| 23.1| 14.9| 13.8 6.3 4.0 4.4 8.4 4.0
Syl 14.9] 19.0|  22.6| 27.7| 28.2| 25.0/ 19.0| 14.9 9.3 5.8 6.6| 11.9] 17.1
k| 7.83| 7.66| 7.58] 7.65| 7.61| 7.47| 7.61| 8.23| 8.47| 8.49| 8.15| 8.39| 8.49
p HAE BN 7.38] 738 7.36| 7.49| 7.30] 7.29| 7.36| 7.47| 7.83| 7.74| 7.97| 7.77| 7.29
ety | 7.53| 7.49|  7.47| 7.56| 7.45| 7.36| 7.46| 7.84| 8.10] 8.15| 8.08] 8.09| 7.72
IS ON 388 401 421 534 600 573 433 496 480 628 578 543 628
AR R (uS/em) | fx/h 334 347 368 416 531 427 359 400 412 485 531 438 334
Sty 364 374 397 471 560 491 398 446 450 547 550 501 462
IS ON 2.3 3.3 3.5 3.2 3.3 3.2 2.9 2.4 2.1 1.7 1.6 1.8 3.5
TR TR (mg/L) E52N 1.4 1.8 2.3 2.2 1.8 2.1 1.5 1.6 1.3 1.1 1.3 1.3 1.1
Sty 1.8 2.4 2.8 2.8 2.5 2.5 2.0 1.9 1.6 1.4 1.4 1.5 2.0
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s 1k TRROK RN

YIS A 4 5 6 7 8 9 10 11 12 1 2 3 S|
AR 19.2] 22.7| 28.6| 290.7| 31.2| 27.1| 24.0] 16.2] 14.9 7.2 8.2| 14.8| 31.2
KR (C) BN 11| 16.0) 195 25.9| 25.7| 23.4| 15.1| 13.9 6.5 4.3 4.6 8.6 4.3
Ery | 15.00  19.1| 22.6| 27.8| 28.3] 25.2| 19.1| 15.0 9.5 6.1 6.7| 12.0| 17.2
ek 1.3 0.9 0.4 0.3 0.3 0.4 0.3 0.3 0.4 0.5 0.6 0.4 1.3
tiali s (s B/ 0.5 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.3 0.2 0.2
Sty 0.8 0.4 0.3 0.2 0.2 0.2 0.2 0.2 0.3 0.4 0.4 0.4 0.3
BAR| 728 7.34 T.21| 7T.21| 7.18| 7.22| 7.24| 7.43| 7.48| 7.57| 7.39| 7.43| 7.57
p HAE H/AN| 6.85| 7.10| 7.08] 7.07| 7.08 7.09| 7.12| 7.18| 7.36| 7.30| 7.30] 7.24] 6.85
Ery | 7.08| 7.21| 7.18| 7.15| 7.13| 7.15| 7.18| 7.33| 7.41| 7.41| 7.35| 7.34| 7.24
i ) ek 5.0 5.0 5.0 5.3 5.7 5.8 5.6 5.5 5.6 5.7 5.5 5.5 5.8
g%ﬁ?%:ﬁ;%?/ (mg/L) B2 N 4.0 4.3 4.5 4.6 5.0 5.0 4.6 4.3 4.9 4.9 4.8 4.7 4.0
Sty 4.5 4.7 4.8 5.0 5.4 5.5 5.1 5.0 5.2 5.3 5.2 5.2 5.1
) IS FN 2.5 2.5 2.6 2.8 3.0 3.0 2.9 2.8 2.7 2.8 2.7 2.7 3.0
ﬁ%ﬁé?ﬁg?* (mg/L) B2 N 2.2 2.2 2.4 2.6 2.9 2.9 2.7 2.7 2.5 2.6 2.5 2.4 2.2
Sty 2.4 2.4 2.5 2.7 2.9 2.9 2.8 2.7 2.6 2.7 2.6 2.6 2.6
&AK| 63.2] 680 686 73.7| 77.9| 73.7| 70.2| 77.7| 77.2| 80.3] 785 781 80.3
w7k (mg/L) B/N| 48.0| 58.5| 61.6| 65.8 70.9| 63.7| 59.1| 64.3| 71.7| 75.2| 73.6| 70.8] 48.0
¥y | 55.7|  62.6| 65.3 70.7| 74.9| 70.1| 66.0| 72.0| 74.3| 77.2| 75.9| 74.5| 69.9
IS FN 0.9 1.7 1.6 1.5 1.6 1.5 1.1 1.0 0.9 0.7 0.8 0.6 1.7
TR TR (mg/L) E52N 0.4 0.8 0.9 0.8 0.7 0.9 0.7 0.6 0.5 0.4 0.4 0.4 0.4
Sty 0.7 1.1 1.2 1.2 1.0 1.1 0.9 0.8 0.6 0.5 0.5 0.5 0.8

)1k W Ak

b A iEK A 4 5 6 7 8 9 10 11 12 1 2 3 AR
BAR| 193] 22,9 28.9| 29.9| 31.4| 27.2| 24.0] 16.3] 14.9 7.2 03| 149 31.4
KR (C) BN 112 16.0) 19.6| 26.0| 25.8| 23.4| 15.2| 14.0 6.5 4.4 4.7 8.9 4.4
Ery | 15.0(  19.2| 22.7| 28.0| 28.5| 25.3] 19.2| 15.1 9.6 6.1 6.8/ 12.1| 17.3
BAR| <01 <o.1| <o.1| <o.1| <o.1| <0.1| <0.1| <0.1| <0.1] <0.1| <0.1| <0.1| <0.1
tiali s (s BN <001 <01 <o.1| <o.1| <o.1| <0.1 <0.1 <0.1| <0.1] <0.1| <0.1| <0.1| <0.1
SEHy | <0.1| <0.1|  <0.1| <o.1|  <0.1| <0.1| <0.1| <o.1| <o.1| <o.1| <o.1| <o.1| <0.1
KA 721 7.31 7.200 719 7.20| 7.22| 7.24| 7.42| 7.47| 7.57| 7.42| 7.40| 7.57
p HAE /| 6.85| 7.13| 7.10) 7.07| 7.10| 7.11| 7.12| 7.18| 7.37| 7.31| 7.31| 7.25| 6.85
Ery | 7.08| 7.19| 7.16| 7.14| 7.13| 7.16| 7.18| 7.32| 7.41| 7.42| 7.35| 7.34| 7.24
i ) IS FN 4.9 5.0 4.9 5.4 5.7 5.8 5.7 5.4 5.7 5.7 5.4 5.5 5.8
g%ﬁ?%:ﬁ;%?/ (mg/L) B/ 4.0 4.3 4.5 4.7 5.1 5.1 4.7 4.1 4.9 4.9 4.8 4.7 4.0
Sty 4.4 4.6 4.7 5.0 5.4 5.5 5.1 5.0 5.2 5.3 5.1 5.2 5.0
) ek 2.4 2.4 2.5 2.9 2.9 2.9 2.8 2.7 2.6 2.8 2.8 2.7 2.9
ﬁ%ﬁé?ﬁg?* (mg/L) B/ 2.1 2.2 2.4 2.6 2.9 2.8 2.6 2.5 2.5 2.6 2.6 2.4 2.1
Sty 2.3 2.3 2.4 2.7 2.9 2.9 2.7 2.6 2.6 2.7 2.7 2.6 2.6
o IS FN 73 82 8 8 5 3 1 2 8 7 32 91 91
22:?:?;’” IR gy | B 41 10 4 2 2 1 1 a 1 3l 23l 38
Sty 56 48 6 5 3 2 1 1 3 5 28 58 18
ek 188 39 8 6 3 3 3 5 20 47 269 185 269
DES N (ng/L) B/ 77 6 6 1 2 1 2 2 7 41 163 97 1
Sty 139 15 7 3 2 2 2 3 13 44 222 124 48
ek 0.5 0.4 0.6 0.6 0.5 0.5 0.5 0.5 0.6 0.4 0.5 0.3 0.6
TR TR (mg/L) E52N 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2
Sty 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3
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fis) 1KY RLiEK AR
RLIRTEPE R ALER K A 4 5 6 7 8 9 10 11 12 1 2 3 AR
W] 195 23.0/ 29.0| 30.0| 31.6| 27.4| 24.5| 16.8] 15.1 7.6 8.5 15.6| 31.6
KR (C) /AN 1150 16.4| 19.9| 26.2| 26.0] 23.8] 15.7| 14.5 7.1 4.7 5.0 9.2 4.7
Sy | 1503 19.4|  22.9| 28.2| 28.7| 25.5| 19.6| 15.6| 10.1 6.5 7.1 12.7] 17.6
k| <01 <01 <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1 0.1 0.1 0.1
il (%) e/ <001 <o.1| <0.1| <0.1| <0.1] <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1
Sy | <0.1| <001 <0.1]  <0.1f <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1
Wl 7.290 7.26| 7.21| 7.28| 7.28| 7.29| 7.26| 7.38| 7.56| 7.56| 7.5l 7.44| 7.56
p HfE /| 6.87| 7.06| 7.05| 7.05| 7.06| 7.10| 7.11| 7.16| 7.33| 7.34| 7.31| 7.26| 6.87
Sy | 7.04| 7014 7.10) 70120 7.14| 7.16| 7.18| 7.28| 7.39| 7.41| 7.36| 7.33] 7.22
S G BR 1.7 1.7 2.1 2.2 2.4 2.8 2.7 2.9 2.9 3.1 2.5 2.4 3.1
B U g ) (mg/L) 2/ 0.9 1.0 1.4 1.2 1.5 1.8 1.6 2.0 1.9 2.0 1.8 1.0 0.9
F-H) 1.2 1.3 1.7 1.8 1.9 2.2 2.1 2.4 2.5 2.6 2.2 1.7 2.0
i (SRS BR 0.8 0.9 1.1 1.2 1.3 1.5 1.6 1.7 1.5 1.6 1.4 1.1 1.7
(ToC) ol e/ e/ 0.5 0.5 0.9 0.7 0.9 1.1 1.1 1.1 1.0 1.2 1.0 0.5 0.5
FH) 0.6 0.7 1.0 1.0 1.1 1.2 1.3 1.5 1.3 1.4 1.2 0.9 1.1
N R 2 3 2 1 <1 <1 <1 <1 <1 <1 2 2 3
i:zi»%%*»z /L) | B 1 | al al al Al al al al o« | al o«
FH) 2 2 <1 <1 <1 <1 <1 <1 <1 <1 2 1 <1
BR 2 <1 <1 <1 <1 <1 <1 <1 <1 1 2 <1 2
Ve AIY (ng/L) e/ <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 1 <1 <1
F-H) <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 1 <1 <1

fis) 1k oK
oK A 4 5 6 7 8 9 10 11 12 1 2 3 AR
| 19.4] 22,9 28.9] 30.0] 31.5| 27.3| 24.2| 16.4| 15.0 7.4 8.3 14.9| 31.5
KR (C) /AN 11,4 16.3] 19.8| 26.3| 25.9] 23.5| 15.4| 14.0 6.7 4.5 4.9 9.0 4.5
Sy | 1501 19.3| 22.8| 28.1| 28.7| 25.4| 19.3| 15.2 9.7 6.2 6.9 12.2| 17.4
R | <01 <01 <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1 0.1 0.1 0.1
L (%) e/ <001 <o.1| <0.1| <0.1| <0.1] <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1
Sy | <0.1| <001 0.1 <0.1f <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1
| 7.33| 7.27| 7.23| 7.34| 7.36| 7.38| 7.32| 7.43| 7.59| 7.58| 7.54| 7.48| 7.59
p HfE /N 6,900 7.09]  7.09| 7.09| 7.10| 7.14| 7.15| 7.21| 7.37| 7.34| 7.34| 7.28 6.90
Sy | 7008 7.17| 7.14|  7.18|  7.19 7.21| 7.23| 7.32| 7.43| 7.44| 7.38] 7.37| 7.26
BR 0 0 0 0 0 0 0 0 0 0 0 0 0
i (%) 2 0 0 0 0 0 0 0 0 0 0 0 0 0
F-H) 0 0 0 0 0 0 0 0 0 0 0 0 0
S Gl BR 1.5 1.6 1.9 1.9 2.1 2.5 2.5 2.5 2.7 2.8 2.2 2.2 2.8
B U g ) (mg/L) 2 0.7 0.9 1.3 1.1 1.3 1.6 1.4 1.7 1.7 1.7 1.6 0.9 0.7
F-H) 1.1 1.2 1.6 1.6 1.7 2.0 1.9 2.2 2.2 2.3 1.9 1.5 1.8
i (SR BR 0.7 0.8 1.1 1.2 1.3 1.5 1.6 1.6 1.5 1.6 1.4 1.1 1.6
(ToC) ol e/ 2 0.5 0.5 0.9 0.7 0.9 1.1 1.1 1.1 1.0 1.2 1.0 0.5 0.5
F-H) 0.6 0.7 1.0 1.0 1.1 1.2 1.3 1.4 1.3 1.4 1.2 0.9 1.1
| 65.00 62.4] 69.4] 99.1 111 98.2| 72.3| 83.7| 77.5 105 99.1| 96.1 111
WAk A A (mg/L) /| BLL| 49.7| 56.4| 65.7| 95.1| 66.2| 49.7| 57.9| 65.8] 75.4| 83.6| 69.1| 49.7
Sy | 7.9 57.3| 62.9] 81.2 101| 83.1| 60.6| 70.4| 71.4| 89.0| 91.2| 83.7| 75.8
BR AL | B | B AL | BEAL| WAL | BEAL | BEA L | WL | mEe L | Bl | Bl -
BR 1 1 1 1 1 1 1 1 1 1 1 1 1
RBEME (TON) 2 1 1 1 1 1 1 1 1 1 1 1 1 1
F-H) 1 1 1 1 1 1 1 1 1 1 1 1 1
IS B U | BERL | RERL WAL | BERL | BEAAL | BERL | BEALL | BEARL | BELL | BERL | REL -
N R 2 3 2 <1 <1 <1 <1 <1 <1 3 2 3
i:zi»%%*»z g/l | B a | al al al Al al al al o« | al o«
F-H) 1 2 1 <1 <1 <1 <1 <1 <1 <1 2 1 <1
BR 2 <1 <1 <1 <1 <1 <1 <1 <1 1 2 <1 2
Ve AIY (ng/L) s <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 1 <1 <1
FH) <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 2 <1 <1
BR 0.6 0.6 0.8 0.9 0.9 0.9 0.8 0.8 0.7 0.6 0.6 0.6 0.9
PR (mg/L) e 0.4 0.5 0.6 0.6 0.7 0.7 0.6 0.7 0.5 0.5 0.5 0.5 0.4
FH) 0.5 0.6 0.7 0.7 0.8 0.8 0.7 0.7 0.6 0.6 0.5 0.5 0.6
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165 [1°0> 10> 170> 10> 170> 10> 170> 170> 170> 170> 170> 10> 1°0> 10> 1°0> (F) | 1e5r
055 | 1> B D B D B D B D > D 5 D > D Gi) 5| 05
6V |- - - NG NI NG ez 5 NG NI NG NG NI NG NI NG O | 6V
8FHF |- - - 243 253 243 253 243 253 243 243 253 243 253 NG | 8V
L |07 "L V1L 1671 1870 ge L [ 1671 05 "L 1870 LVl £vL [ 1871 8¢ L VL HH | v
9 (171 g0 LT 11 [ R [ LT 91 0T 6°0 L0 1 g0 8°0 (1/8w) (@ (OOL) ¥MMMHL) s s |ovsy
S |S000 0> 5000 0> G000 0> - - - - - - - - - - G000 0> - (1/8uw) WA — [ T L |s15F
¥Pf |200 0> 200 0> 200 0> - - - - - - - - - - 200 0> - (1/3w) IR AT A e S [V F
eV | 1> D) 2 I3 [ D) > D) D » D D) 2 » 4 (1/8u) A — LA LA 4T ehE
ohE | > D) 2 D) [ I3 > D) D B D D) D B 4 (1/8u) AT YT LT
17 |20 0> 20 0> 20 °0> - - - - - - - - - - 20 0> - (1/3w) IR g A e S5 | v
ovsY |99 661 £ve 785 998 8L% [ 252 91¢ €92 £ve 867 0€2 661 €12 (1/3w) i EE X635 | 0V
655 |V 76 0°¢8 701 701 701 101 666 616 0°98 G'86 70T 0°¢6 9°88 878 0°¢€8 (1/80)  GIMl) &7 4 A%s > T LAE|6ESE
8eY [L°LL €789 8°66 796 €76 0°88 V9L [ €89 1768 8°66 6°9L 0°T9 €789 L7°09 (1/3w) AN S A By [ sesr
LESF [100 "0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> (1/3uw) GG AV D LW AL~ 2| Le5E
9e57 [€ P8 g ov 299 - G°89 - - 0729 - - 299 - - gop - (1/3uw) HEWDX0WT 4 (] £]9e5
Se¥f |10 70> 10 0> 10 0> - - - - - - - - - - 10 0> - (1/3uw) 20 QW M| seFf
vesy |10 0> 10 0> 10 °0> 10 0> 10 °0> 10 0> 10 °0> 10 0> 10 °0> 10 0> 10 °0> 10 0> 10 °0> 10 0> 10 °0> (1/3uw) AV 0 L0 HE | vedt
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L2 |710°0 G£00 0 3§20 0 - G€00 0 - - 2220 0 3§20 0 8£10 0 £800 0 1610 °0 8100 G500 0 - (1/3w) A& Lo (i B Lo
92%f |100 0> 100 0> 100 0 - 100 0> - - 100 0 - - 100 0> - - 100 0> - (1/3uw) |95
<2 0300 0 L£000 "0 8£00 "0 - 8000 "0 - E L£00 0 8600 0 1200 "0 2100 0 9100 "0 0200 "0 L000 0 - (1/8uw) A& 400 4x0 L4
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SI5F (00 0> G00 0> S00 0> - - - - - - - - - - G500 0> - (1/8uw) AR EATT|s15F
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